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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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G3-1

BYiE) | GEBIATK (R) | EHME (EA/H) | EBRERE (B/R) | XK EE

06:40 143 80.0 1.728 5| FHf06:40 KHIEF (RFAEREE)
07:40 143 80.0 1.728 5| FEAC07:40 KEIEFE CGRAMEESE)
08:40 143 80.0 1.728 E|  FiHBe08:40 KREFZF (GRFAEREIZE)
09:40 143 80.0 1.728 | FHEAe09:40 KEFEF (KAEREEE)
11:15 143 80.0 1.728 E(  FiHRe11:15 KREFEF CGRAMEREE)
12:55 143 80.0 1.728 E|  FaHA@12:55 KEFEF (GRPIEREE
14:40 143 80.0 1.728 | FHAe14:40 KHEF (KAERESE)
23t| 1001.0 (7% 560. 0 3EGHKEC: 3000.0, PH: 6.3

unusual large postFgEt from yesterday (246), set to 240.0 ml.
REXSEBPH (10.5) 5i87EPH (6.4) REKK, 1HRE
REXRJEBIPH (10.5) S5FMPH (6.5) REKK, BHRE




FRV (ml plant-1)

ET (ml/hr/plant)

G3-1_0, Day=25 (2025-06-06)

VI, vo, &

a0 8
|3 |

, ET = VI, VO, FVI, EVO, FRV, ad jFRV, ET

00

00

T
(=2}
o
o

458

T
S
o
o

FRV (ml d-1)

T
N
o
o

T
o

optEC0=1800. 0,

setECB=3000. 0

0.0

optPHO0=6. 5,

setPHB=6. 3

300 -

200

10 —e—@

1.0

ByWoFv @D25 02:

11: ET=458 Fg=560.0 Ro=0

& o

7 1000
- 750
- 500

- 250

0 1 2 3

4 5 6 7 8 9 10 11 12 13 14

16

17

18

19

20

21

22

23

0.8 -

B |Z=| B | B

I N I I M R

E3
B

=
B

£33
B

E3
]

E3
B

=
B

£33
B

E3
B

E3
B

0.6 1

0.4+

0.2~

0.0

800 {
600 -
400 -

200 -

A A WarRing:

, "PPFD_obs’] is missing

30 |

25 A

20 A

15

obs', 'To obs'] is missing

80 -

60

40 -

Warning: lcol ['RH obs’, 'RHo obs’] is missin

RH @

0.6 1

0.4+

0.2~

0.0

0.0

0.2 0.4 0.6

0.8

1.0

cumET (ml/plant)



hour

100

6:30
80

7:50
60

9:55
40

11:50
20

13:45
I I I I -0




G3-1

BfiE) | GEBATK (7)) | ERE (BEH/f) | ERERE (B/R) | XS R

06:30 143 80.0 1.728 F 1BRi%e06:30 Bah (RAERE)
07:50 143 80.0 1.728 = {RRi8007:50 Bzh (RAEESE)
09:55 143 80.0 1.728 FA| 1B2i%@09:55 B3h (kA{EREEE)
11:50 143 80.0 1.728 FA| {Ri%@11:50 Bz (CGRAERESE)
13:45 143 80.0 1.728 |Z=| 1BRige13:45 Bzh (REERESE)
Bit| 715.0 (5X%) 400. 0 32 KEC: 3000.0, PH: 6.4

BEXRERIPH (10.54) 5i8EPH (6.5) IREWR K, BT
FERERPH (10.54) 5FPH (6.5) {REKK, AT
LRGEBIEC (2863.0) S51REVEY (2340.0) REK K, BHHE.
LORGEBIPH (10.5) 5i&EE (6.4) RERKK, BRE.
LORGEBIPH (10.5) S5HREIEN (6.4) RERK, HRE.




G3-1_0, Day=24 (2025-06-05)
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G3-1

BYiE) | GEBIATK () | EHME (EA/H) | BEBRERE (B/R) | XK EE

06:30 143 80.0 1.728 = {Ri%@06:30 B (RAAERSE)
07:45 143 80.0 1.728 F BRi&e07:45 Bz (GRAERERE)
09:40 143 80.0 1.728 = RRi8009:40 Bzh (RAEESE)
11:10 143 80.0 1.728 =l Rige11:10 B3 (GRAERSE)
12:55 143 80.0 1.728 E BRige12:55 Bz (GRAERERE)
14:30 143 80.0 1.728 E| {Rig@14:30 B3h (RE{EREE)
15:50 143 80.0 1.728 =l RRiB015:50 B (RFAEESE)
23t | 1001.0 (7% 560. 0 3EGHKEC: 3000.0, PH: 6.5

large discrepency for begining water status (105:261.0), set to 105 ml.
REXEBPH (10.81) 5iR7EPH (6.5) REK K, FEE
REXEBIPH (10.81) 5FPH (6.5) RERK, BHRE

LRGERIEC (2749.0) S5iRAIEY (2340.0) REK KX, BHRE.

ERGERRPH (10.5) 5ig&EE (6.5 REKK, HERE.
LRGERIPH (10.5) S#REIE (6.5) RWERK, BERE,




G3-1_0, Day=23 (2025-06-04)
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G3-1

BfiE) | GEBATIC (R) | ERE (EH /&) | ERERE (B/R) | XS R

07:35 145 80.0 1.728 = {RRiB007:35 Bz (RAKEE)
08:40 145 80.0 1.728 S| {RRi&e08:40 Bzh (GRAEFESR)
10:40 145 80.0 1.728 =l RRiB010:40 B (RFAEEE)
12:20 145 80.0 1.728 =l RiBe12:20 B3 (REAKEE)
14:10 145 80.0 1.728 E| {Rige14:10 Bzh (GRE{ERSE)
15:50 145 80.0 1.728 F BRige15:50 Bz (GRAERE)
Bit| 870.0 (6X%) 480.0 3ZHKEC: 3000.0, PH: 6.5

EREBRIELL TR (0.65 vs 0.57)), AIREE ZIRREIEREEIRK

ERIASSPRIERE81.0 ml.

large discrepency for begining water status (64:267.0), set to 64 ml.
REXREBIPH (10.67) 5i&EPH (6.5) REWR K, BT
REXRERLPH (10.67) 5FMPH (6.5) REWR K, BT
REXEBIEC (2096.0) 5i&FEEC (2600.0) REK KA, BFEE
LIRGEBIEC (2897.0) S51EAEY (2340.0) RERK, BRE.
LRGEBIPH (10.7) 5i&8%E{E (6.5) RERK, BERE.
ERGEBIPH (10.7) S5#EEE (6.5) REKK, HRE.




G3-1_0, Day=22 (2025-06-03)
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G3-1

BYiE) | GEBIATK () | EHME (EA/H) | BEBRERE (B/R) | XK R

06:35 105 80.0 1.728 (2 =| 1Ri8006:35 Bzh (KREEREE)
07:35 105 80.0 1.728 | 1Ri&e07:35 Bz (KAL)
09:30 105 80.0 1.728 5| 1RiR@09:30 Bz (KREEESE)
11:15 105 80.0 1.728 =l Rige11:15 B3 (RAERSE)
13:05 105 80.0 1.728 |2 =| 1BRige13:05 Bzh (REERESE)
14:25 105 80.0 1.728 (2 =| 1Ri%e14:25 Bz (REFEBRSR)
15:50 105 80.0 1.728 | =| 1Ri%e15:50 Bz (kBEREE)
=23t| 735.0 (%) 560. 0 3EGHKEC: 3000.0, PH: 6.5

large discrepency for begining water status (114:291.0), set to 114 ml.
REXEBIPH (10.54) 5i&EPH (6.5) RER KA, HFHRE
REXFEBIPH (10.54) 5FMPH (6.5) RERK, FHRE
REXEBIEC (1884.0) 5iRTEEC (2500.0) REK K, BT

LOREBIEC (2740.0) S51EEIEY (2340.0) RERK, BRE.

EUGERPH (11.3) 5i8EE (6.5 REKK, FHE.
LORGEBIPH (11.3) S5#AVEWN (6.5) RERK, BRE.




G3-1_0, Day=21 (2025-06-02)
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